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UNIT 2: URBANISATION - READING

1. Task 1 Unit 2 I&p 12 Reading

You are going to read a text about urbanisation. Predict whether the following
statements are true (T) or false (F). (Ban sé doc mét van ban vé dé thj héa. Dw doan cac
nhén dinh sau day la dung (T) hoac sai (F).)

T F

—

Urbanisation happened first in more economically E] E]
developed countries, then in less economically
developed countries,

2. Urbanisation has increased in rich countries E] E]
since 1950s.

3. Lack of resources in rural areas is one of the [] [:]
factors leading to urbanisation in less developed
countries.

4. The standard of living in cities and rural areas is [] [:]
more or less the same.

on

- By 2050, more than two thirds of the world's (1| L]
population are expected to live in urban areas.

Guide to answer
1.T;2.F;3.T;4.F;5. T
Tam dich

1. D6 thi hoa da xay ra lan dau tién & cac nudc kinh té phat trién, sau do & cac nwdc kém
phat trién vé kinh té. > T

2. D6 thi héa da gia tang & cac nwéc giau cé tir nhirng nam 1950. > F

3. Thiéu ngudn lyc & cac khu vee ndng thdn 1a mét trong nhivng yéu té dan dén dé thi héa &
cac nwéc kém phat trién hon. > T

4. Mirc sbng & céac thanh phd va cac khu vire néng thén it nhiéu gibng nhau. > F
5. Dén na&m 2050, hon hai phan ba dan sé thé gi¢i sé séng & cac khu vuc d6 thi. > T
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2. Task 2 Unit 2 I1&p 12 Reading

Read the text and check your predictions in 1 (Doc van ban dé kiém tra nhiing dw doan
trong phan 1)

Urbanisation is the process by which urban areas grow bigger as more and more people
leave the countryside to live in towns and cities.

Before the 1950s, urbanisation mainly occurred in more economically developed countries
(MEDCs). Rapid urbanisation happened during the period of industrialisation in Europe and
North America in the nineteenth and early twentieth centuries. A lot of people left their home
villages for urban areas hoping to find jobs in the rapidly expanding industries in big towns
and cities. Since 1950s urbanisation has become slower in most MEDCs. Now, some of the
biggest cities are losing population because people go back to live in rural areas. This is
known as counter-urbanisation.

Since 1950, urbanisation has grown rapidly in LEDCs (Less Economically Developed
Countries) in Africa and South America. Between 1950 and 1990 while the urban population
in LEDCs doubled, increase was less than half in developed countries.

There are various causes of urbanisation in LEDCs. Here are some major ones. First, people
migrate to urban areas on a massive scale due to lack of resources in rural areas. Second,
small farmers find it h to make a living not just because of bad weather conditions such as
drought, floods, or storms, because they can't compete with large agricultural companies.
These are considered ‘push’ factors.

People living in rural areas are also ‘pulled’ to cities, which are known to be places of financial
centres, services, wealth and opportunities. Believing that standard of living in urban areas
will be higher in rural areas, many people come to the city seeking their fortune.

Today, about half of the world's population in urban areas. Urbanisation has provided
opportunities, higher incomes and better access to health facilities and education. The urban
population will continue to grow and it is expected that proportion will increase to 70% by
2050.

Tam dich

Do thi hda la qua trinh trong d6 khu vire dé thi phat trién rong Ién hon khi ma ngay cang
nhiéu ngudi dan roi khéi vung néng thén dén song & cac thi tran va thanh pho.

Trwdc nhitng ndm 1950, d6 thi hda chd yéu xay ra & nhiéu qubc gia phat trién vé kinh té
(MEDCs). d6 thi hdéa nhanh chéng xay ra trong thoi ky céng nghiép & chau Au va Bac My
trong thé ky XIX va dau XX. R4t nhiéu nguoi rdi qué hwong ctia ho dén véi khu vec d6 thi
hy vong tim dwoc viéc lam trong cac nganh coéng nghiép phat trién & céac thi trAn va thanh
phé 1&n. K& tr ndm 1950 d6 thi héa da tré nén cham hon trong hau hét cac MEDCs. Bay
gi®&, mot s thanh phd I&n dang gidm dan sé vi ho tré lai sdng & khu vuc néng thén. Diéu
nay dwoc goi la phan dé thi héa.

Ké tir nam 1950, d6 thi hoa da phat trién nhanh chéong trong LEDCs (Qudc gia kém phat trién
hon vée kinh t€) & chau Phi va Nam My. Gitra nam 1950 va 1990 trong khi dan so6 d6 thi &
LEDCs gap déi, trong khi cac nwéc phat trién lai tang it hon mot nira.

C6 nhiéu nguyén nhan khac nhau ctia dé thj héa & LEDCs. Duéi day 1a mot sé nguyén nhan
I&n. DAu tién, nguoi di chuyén dén cac khu vue d6 thi trén quy md Ién do thiéu nguén luc &
cac khu vire ndng thén. Thir hai, néng dan cdm thay kho kh&n hon dé kiém sdng khong chi
thoi tiét xAu nhw han han, |G lut, bdo, ma con béi vi ho khéng thé canh tranh véi cac coéng ty
néng nghiép 1&n. Pay dwoc coi la yéu té 'day'.
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Nguoi dan séng & khu viec néng thén ciing dwoc 'day' téi cac thanh phd, dwoc biét dén 1a
trung tam dich vu tai chinh, tai san va co hoi. Tin twéng rang mrc sdng & cac khu vuc d6 thi
sé cao hon & néng thén, nhidu nguoi dén véi thanh phé tim kiém van may cua ho.
Ngay nay, khoang mét nlra dan sé thé gidi trong khu vuc d6 thi. D6 thi héa da cung cép
nhirng co hdi, thu nhap cao hon va tiép can tét hon téi co sé y té va gido duc. Dan sb db thi
sé tiép tuc phat trién va du kién ty & d6 sé tang Ién 70% vao nam 2050.

3. Task 3 Unit 2 I&p 12 Reading

Find the words in the text that have the following meanings. Write the words in the
space provided. (Tim cac ttr trong véan ban c6 y nghia nhw sau. Ghi cac tir vao cho trong
dwoc cung cap.)

1. becoming larger in size or amount.

2. the movement of people out of citles
to the surrounding areas.

3. became twice as big or twice as many.

4. arise in size, amount or degree.

5. go to live in another area or country.

Guide to answer

1. expanding | 2. counter-urbanisation

3. doubled 4. increase | 5. migrate

Tam dich

1. M& rong: tré nén 1én hon vé kich thuéc hodc lwong

2. Lién d6 thj héa: di chuyén ciia ngudi dan ra khéi thanh phé dén cac khu vuc 1an can
3. Gap doi: tré nén gap doi

4. Sy tang Ién: sy gia tang kich thudrc, sb lwong hoac mirc d6

5. Di cw: di dén sbng trong khu vuwe hodc québc gia khac

4. Task 4 Unit 2 I&p 12 Reading

Read the text carefully. Answer the following questions (Poc vdn bdn mét céch cén than.
Tra loi cac cédu hdi sau day)

1. What is urbanisation? (D6 thj hoa la gi?)

2. What do MEDCs and LEDCs stand for? (MEDCs va LEDCs la viét tat cta tir gi?)

3. Where did rapid urbanisation take place prior to 19507 Why? (Trwéc nam 1950, dé thj hoa
dién ra & dau? Vi sao?)

4. What happened after 19507 (Chuyén gi xay ra sau nam 19507)
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5. What are some of the 'push’ factors of urbanisation? (M6t sé yéu té "thuc day" dé thi hoa
la gi?)

6. Why are small farmers' lives difficult? (Tai sao cuéc séng cla nguoi néng dén gdp khé
khan?)

7. What are some of the ‘pull’ factors of urbanisation? (Mot sé yéu tb "kéo theo" ctia dé thi
héa Ia gi?)

Guide to answer

1. It's a process by which urban areas grow bigger as more and more people leave the
countryside to live in towns and cities. (D6 la moét qua trinh ma cac khu vwre dé thi ngay cang
nhiéu nguoi toe khu viee nbng thén chuyén toi song trong thj tran hoac thanh pho.)

2. MEDCs stands for more economically developed countries. LEDCs stands for less
economically developed countries. (MEDCs la viét tat cta nhiéu nwoc kinh té phat trién.
LEDC:s la viét tat caa cac nwoc kinh té kém phat trién.)

3. Before the 1950s, rapid urbanisation took place in Europe and North America because it
was the period of industrialisation in these areas. (Trwéc nam 1950, do thj héa nhanh chong
dién ra & Chau Au va Bac My vi day la giai doan céng nghiép hoéa khu virc nay.)

4. After 1950, urbanisation started to grow rapidly in LEDCs. (Sau nam 1950, dé thi hoa bat
dau phat trién nhanh chéng & cac nwéc kém phat trién.)

5. Some of the ‘push’ factors of urbanisation are lack of resources in rural areas, bad weather
conditions, and competition from Iarge agricultural companies. (Mot so yéu to thic day dé thi
héa phét trién Ia thiéu céc nguén luc & ndng thén, diéu kién thoi tiét x4u va canh tranh tir cac
cbng ty nbng nghiép Ion.)

6. Because they have to suffer bad weather conditions and competition from large agricultural
companies. (B&i vi ho phéi chiu dung diéu kién thoi tiét x4u va canh tranh t cac cong ty
néng nghiép Ién.)

7. Some of the ‘pull’ factors of urbanisation are the centralisation of resources such as money,
services, wealth and opportunities as well as the higher living standards of these areas. (M{t
sé yéu té kéo theo cua do thj hoa la tap trung cac ngudn luc nhuw tién, dich vu, sw giau c6 va
co héi ciing nhw mire séng cao hon cda nhitng khu virc nay.)

5. Task 5 Unit 2 I&p 12 Reading
Discuss with a partner (Thao luan véi mét nguoi ban)

How has your area been affected by urbanisation? (Khu virc cta ban da bji anh hudéng
nhuw thé nao béi dé thj hoa?)

Guide to answer

e Some problems include inadequate water and sanitation, lack of rubbish disposal, and
industrial pollution.

e Urbanisation has provided opportunities, higher incomes and better access to health
facilities and education.
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Tam dich

e Mot sb van dé bao gdbm nuéc va vé sinh, thiéu cach xt ly rac thai, va 6 nhiém cong
nghiép.

e DO thi hoa da tao co hdi, thu nhap cao hon va tiép can toét hon véi cac co sé y té va
giao duc.

6. Practice
Read the passage and choose the correct answer A, B, C or D for question (Doc doan
van sau va chon phwong an dung cho céac cau hdi)

A striking feature of Viet Nam’s remarkable progress over the last few decades is the rapid
pace of urbanisation. In 1986, there were fewer than there are 30 million urban residents.
Today there are 30 million. Cities have become strong growth forces, with urban areas
growing twice as fast as the national average rate, and contributing over half of the country’s
gross domestic product. Viet Nam needs to reshape its urbanization process to create more
efficient cities - cities that have sufficient population densities are well connected internally
and regionally, and well managed. In addition, in line with Viet Nam's strong preference for
social equity, cities will need to ensure inclusion of all residents, with no groups or area “left
behind." Meanwhile, rural residents increasingly lag behind their urban counterparts in
income and access to services, leading many to migrate to cities. Migration presents
challenges for urban management but also opportunities to enhance labor mobility.
Fortunately, these trends can be reversed. For example, four years ago, Alley 76 in Binh
Thanh District, Ho Chi Minh City was only narrow enough for one motorbike to get through.
Store owner Bui Thi Mai knows how a clean and efficient city can make or break a business.
When it rained, the alley was often flooded with floating garbage and mosquitoes. Crime was
increasing. Today, after undergoing major upgrading under an urban renewal project, the
street is cleaner, safer and trucks carry goods to her door. Her family income has soared and
her life has been completely changed.

Question 1: Urbanisation in Viet Nam has

A. mainly contributed to the country’s GDP

B. promoted the country’s economy twice as fast as before

C. made rural areas develop along with urban ones

D. made urban areas develop faster than the average

Question 2: All of the following are necessary for efficient cities EXCEPT
A. management decision

B. sufficient working population

C. internal and regional connections

D. good organisation

Question 3: It can be inferred from the passage that along with urban migration
A. cities offer sufficient employment opportunities for migrants

B. population of cities accounts for the majority of the country's

C. the city authorities face both advantages and disadvantages

D. people in rural areas do not suffer from poor infrastructure in the city.
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Question 4: The responsibility of city authorities is

A. to provide equal opportunities for every group of residents

B. to stop the migration from the rural areas

C. to contribute much more to the country's gross domestic product

D. to leave all difficulties behind in order to move forward

Question 5: All of the following are benefits from the urban renewal project EXCEPT that

A. the streets and alleys will no longer be flooded

B. business and the living conditions have been improved
C. the neighbourhood has become cleaner and safer

D. people can have goods carried to their door

7. Conclusion
Két thiic bai hoc Unit 2 Tiéng Anh m&i Lop 12 — Reading, cac em can ghi nhd mét s6 tir
ving sau va nam dwgc cac thong tin co ban vé dd thi héa cling nhw nguyén nhan cua né:

e Expand: mé rong

e counter-urbanisation: lién dé thi hoa

e increase: tang lén

e migrate: di cw
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